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Lwind, ;. = A(f)+B(f)-log(1+ Iu)’ + C(f)-logu,”
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A=a,+a,-(log f)
B=b,+b -(log f)+b,-(log )’
C=cy+¢ -(log f)+c,-(log f)°
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Lwind ; 4, ., = A(f)+B(f)-log(1+ Iu)’ +C(f)-log u02
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A=a,+a,-(logf)

B=b,+b-(log f)+b,-(log f)’
C=cy+c¢ -(logf)+c, -(log 1)
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Pout = Psound + Pwind
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frequency(Hz) | coefficient A | coefficient B | coefficient C
1 49.8 69.0 241
1.25 48.0 72.6 25.6
1.6 45.5 71.3 272
2 43.3 72.1 28.1
2.5 41.1 69.6 28.5
3.15 39.5 67.2 276
4 38.0 65.0 26.4
5 35.7 69.1 264
6.3 34.2 515 259
8 33.5 43.3 24.2
10 34.9 23.3 20.7
12.5 33.0 14.8 19.4
16 31.7 5.0 16.4
20 34.3 -9.0 11.6
25 33.2 -15.9 9.3
315 33.1 -21.0 6.5
40 31.4 -21.3 5.9
50 31.0 -15.9 45
63 28.6 -8.0 4.8
80 22.6 2.5 8.1
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